Answer on Question #48640 - Math — Calculus

Find second order derivatives of:
1. y=x’+tanx
2. y=log,x
3. x=arctany

Solution.
1
1. Use derivative of sum of functions: y’ = (x* + tanx)' = 3x* + ——;
cos“x
To differentiate term ——, we apply the chain rule.
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3. The function x = arctany is the inverse to the function y = tanx. Therefore,
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Other method: let y be independent variable, X be dependent variable. Then

: ' 1
X, = (arctan(y)) = 1 Using the chain rule, obtain the second-order derivative:
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Answer: (arctgy)” =



